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I have 3 routers connected to a switch, see diagram attached.

R1 is set as the default gateway for R2 and R3, R2 and R3 has the same static routing configuration “ip route 0.0.0.0 0.0.0.0 next hop on R1”. R3 can now ping R1 interface connected to the switch, but R2 can’t ping R1.

R2 can ping the switch, vice versa. And the switch can ping R1, vice versa. I was wondering if there’s problem with the switch, as I can’t find any problems. These are very simple configurations which I have done a few times successfully in the past. Thanks.
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